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I pledge that I have neither given nor received any unauthorized assistance on this exam.

(signature)

DIRECTIONS

1. Show all of your work and use correct notation. A correct answer with insufficient
work or mcorrect notatlon wﬂl lose pomts

2. Clea,rly indicate your answer by putting a box around it.

3. Cell phones and computers are not allowed on this test. Calculators are allowed on
the first — questions of the test, however you should still show all of your work. No
calculators are allowed on the last —~ questions of the test.

4. Give all answers in exact form, not decimal form (that is, put 7 instead of 3.1415, v/2
instead of 1.414, etc) unless otherwise stated.

5. Make sure you sign the pledge.
6. Number of questions = 6. Total Points = 40.



2. (6 points) Calculate the definite integral
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No Calculator
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4. (6 points) Calculate A'(z) for h(z) = / e’ dt. Show your work and explain your

0 _ o
reasoning. At some point you need to use the fundamental theorem of calculus, so

make sure you state where you use it.
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6. (6 points) Solve the integral / zsinz dz. U= x Ay= Slax Ax
= - J/Mz ee = T X
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Extra Credit(1 point) Calculate / e® dt. Hint: read the integral carefully.
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I pledge that I have neither given nor received any unauthorized assistance on this exam.

(signature)

DIRECTIONS

1. Show all of your work and use correct notation. A correct answer with insufficient
work or incorrect notation will lose points.

2. Clearly indicate your answer by putting a box around it.

3. Cell phones and computers are not allowed on this test. Calculators are allowed on
~ the first 3 questions of the test, however you should still show all of your work. No
calculators are allowed on the last 3 questions of the test.

4. Give all answers in exact form, not decimal form (that is, put 7 instead of 3.1415, \/_
instead of 1.414, etc) unless otherwise stated.

5. Make sure you sign the pledge.

6. Number of questions = 6. Total Points = 40.



3. (8 points) (a) Calculate Ry (the approximate area using three rectangles and the right
endpoint to evaluate) to approximate the area under the graph of f(z) = —z*+2z +8,
fromz =1t z=4.
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(b) Sketch a graph of f(z) = —2%+ 2z + 8 and draw in the rectangles ydu are using
to calculate Rj. Is B3 an under-approximation or an over-approximation? R
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4. (8 points) Calculate / tanzIn(cosz) dz.

M

M

/\/ﬁ,{-’ Lﬂb\lJ ﬂ{SD &{0

p—
—

”'-__E /.,1() ”-Vﬁ) /

[Fon ¥ &

A

[ {a
' 4, /

Test B

Us eorx \//
:_.-f(q:__s,\.\,( Ax /

Ay

: Tt z

V=g /

M= L oy

A

U= leme)  wr e

Sarst



JE

6. (6 points) Calculate h'(z) for h(z) = / ¢’ dt. Show your work and explain your

0
reasoning. At some point you need to use the fundamental theorem of calculus, so
make sure you state where you use it.
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Extra Credit(l point} Calculate / e_"" dt. Hint: read the integral carefully.




